 EQ 6x\s\up8(4)-7x\s\up8(3)-6x\s\up8(2)+2x+1=0 
 EQ 6x\s\up8(4)-7x\s\up8(3)-7x\s\up8(2)+x\s\up8(2)+2x+1=0 
 EQ 6x\s\up8(4)-\b(7x\s\up8(2))\b(x+1)+\b(x\s\up8(2)+2x+1)=0 
 EQ 6x\s\up8(4)-\b(7x\s\up8(2))\b(x+1)+\b(x+1)\s\up8(2)=0 
Пусть  EQ A=x\s\up8(2)\;B=x+1 ,тогда

 EQ 6A\s\up8(2)-7AB+B\s\up8(2)=0 
 EQ \b(6A\s\up8(2)-6AB)-\b(AB-B\s\up8(2))=0 
 EQ \b(A-B)\b(6A)-\b(A-B)B=0 
 EQ \b(A-B)\b(6A-B)=0 
 EQ \b(x\s\up8(2)-\b(x+1))\b(6x\s\up8(2)-\b(x+1))=0 
 EQ \b(x\s\up8(2)-x-1)\b(6x\s\up8(2)-x-1)=0 
Теперь каждую скобку приравниваем к 0 и решаем отдельно.

уравнение  EQ 1 .

 EQ x\s\up8(2)-x-1=0 
 EQ D=b\s\up8(2)-4ac=\b(-1)\s\up8(2)-4·1\b(-1)=5 
 EQ x\s\do8(1,2)=\f(-b±\r(D);2a) 
 EQ x\s\do8(1)=\f(1-\r(5);2·1)=\f(1-\r(5);2) ; EQ  x\s\do8(2)=\f(1+\r(5);2·1)=\f(1+\r(5);2) 
уравнение  EQ 2 .

 EQ 6x\s\up8(2)-x-1=0 
 EQ D=b\s\up8(2)-4ac=\b(-1)\s\up8(2)-4·6\b(-1)=25 
 EQ x\s\do8(1,2)=\f(-b±\r(D);2a) 
 EQ x\s\do8(1)=\f(1-5;2·6)=-\f(1;3) ; EQ  x\s\do8(2)=\f(1+5;2·6)=0,5 
 ответ:  EQ x=\f(1-\r(5);2)\;x=-\f(1;3)\;x=0,5\;x=\f(1+\r(5);2) .

желательно сверить с ответами, а то я давно такие не решала
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